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000000000, 00000000,0000000000000000£0 1Dim SobjDim
VisibleOnSet Sobj = hmiruntime.Screens("Layer01™) ‘00 00 O O O O ,Set VisibleOn =

HMIRuntime. Tags("VisibleOn") '00 O O O VisibleOn.Write 1 ‘0 0 0O O 1If VisibleOn.Value

=1Then ‘0000 Sobj.Layers(1).visible=True ‘000 O OO0 Sobj.Layers(2).visible =

False '0J 0 0O O 1 Sobj.Layers(3).visible = False Sobj.Layers(4).visible = False Sobj.Layers(5).visible =

False Sobj.Layers(6).visible = FalseElse Sobj.Layers(1).visible = FalseEnd If [J [ 2Dim SobjDim VisibleOnSet

Sobj = hmiruntime.Screens("Layer01")Set VisibleOn = HMIRuntime.Tags("VisibleOn")VisibleOn.Write 2If
VisibleOn.Value = 2 Then Sobj.Layers(1).visible = False Sobj.Layers(2).visible = True Sobj.Layers(3).visible =
False Sobj.Layers(4).visible = False Sobj.Layers(5).visible = False Sobj.Layers(6).visible = FalseElse
Sobj.Layers(2).visible = FalseEnd If O [0 3Dim SobjDim VisibleOnSet Sobj = hmiruntime.Screens("Layer01")Set
VisibleOn = HMIRuntime.Tags("VisibleOn")VisibleOn.Write 3If VisibleOn.Value = 3 Then Sobj.Layers(1).visible
= False Sobj.Layers(2).visible = False Sobj.Layers(3).visible = True Sobj.Layers(4).visible = False
Sobj.Layers(5).visible = False Sobj.Layers(6).visible = FalseElse Sobj.Layers(3).visible = FalseEnd Ifl] 0 4Dim
SobjDim VisibleOnSet Sobj = hmiruntime.Screens("Layer01")Set VisibleOn =



HMIRuntime. Tags("VisibleOn")VisibleOn.Write 4If VisibleOn.Value = 4 Then Sobj.Layers(1).visible = False
Sobj.Layers(2).visible = False Sobj.Layers(3).visible = False Sobj.Layers(4).visible = True

Sobj.Layers(5).visible = False Sobj.Layers(6).visible = FalseElse Sobj.Layers(4).visible = FalseEnd If(J [0 5Dim
SobjDim VisibleOnSet Sobj = hmiruntime.Screens("Layer01")Set VisibleOn =

HMIRuntime. Tags("VisibleOn")VisibleOn.Write 5If VisibleOn.Value =5 Then Sobj.Layers(1).visible = False
Sobj.Layers(2).visible = False Sobj.Layers(3).visible = False Sobj.Layers(4).visible = False

Sobj.Layers(5).visible = True Sobj.Layers(6).visible = FalseElse Sobj.Layers(5).visible = FalseEnd If(] [J 6Dim
SobjDim VisibleOnSet Sobj = hmiruntime.Screens("Layer01")Set VisibleOn =

HMIRuntime. Tags("VisibleOn")VisibleOn.Write 6If VisibleOn.Value = 6 Then Sobj.Layers(1).visible = False
Sobj.Layers(2).visible = False Sobj.Layers(3).visible = False Sobj.Layers(4).visible = False

Sobj.Layers(5).visible = False Sobj.Layers(6).visible = TrueElse Sobj.Layers(6).visible = FalseEnd If(] [J [J Dim
SobjDim VisibleOnSet Sobj = hmiruntime.Screens("Layer01")Set VisibleOn =

HMIRuntime. Tags("VisibleOn")VisibleOn.Write 7If VisibleOn.Value = 7 Then Sobj.Layers(1).visible = True
Sobj.Layers(2).visible = False Sobj.Layers(3).visible = True Sobj.Layers(4).visible = True Sobj.Layers(5).visible
= False Sobj.Layers(6).visible = FalseElse Sobj.Layers(1).visible = False Sobj.Layers(3).visible = False
Sobj.Layers(4).visible = FalseEnd If(] [ [0 Dim SobjDim VisibleOnSet Sobj = hmiruntime.Screens("Layer01")Set
VisibleOn = HMIRuntime.Tags("VisibleOn")VisibleOn.Write 8If VisibleOn.Value = 8 Then Sobj.Layers(1).visible
= False Sobj.Layers(2).visible = True Sobj.Layers(3).visible = False Sobj.Layers(4).visible = False
Sobj.Layers(5).visible = True Sobj.Layers(6).visible = TrueElse Sobj.Layers(2).visible = False
Sobj.Layers(5).visible = False Sobj.Layers(6).visible = FalseEnd If(1 (I Dim SobjSet Sobj =
HMIRuntime.Screens("Layer01")HMIRuntime.Tags("ColorNumber™).Write MyRnd(1,6)Msgbox
HMIRuntime.Tags("ColorNumber").Readlf HMIRuntime. Tags("ColorNumber").Read =1 Then
Sobj.Layers(1).visible = True Sobj.Layers(2).visible = False Sobj.Layers(3).visible = False
Sobj.Layers(4).visible = False Sobj.Layers(5).visible = False Sobj.Layers(6).visible = FalseElseif

HMIRuntime. Tags("ColorNumber").Read =2 Then Sobj.Layers(1).visible = False

Sobj.Layers(2).visible = True Sobj.Layers(3).visible = False Sobj.Layers(4).visible = False
Sobj.Layers(5).visible = False  Sobj.Layers(6).visible = FalseElseif HMIRuntime.Tags("ColorNumber").Read
=3 Then Sobj.Layers(1).visible = False Sobj.Layers(2).visible = False Sobj.Layers(3).visible = True
Sobj.Layers(4).visible = False  Sobj.Layers(5).visible = False Sobj.Layers(6).visible = FalseElseif
HMIRuntime.Tags("ColorNumber").Read =4 Then Sobj.Layers(1).visible = False

Sobj.Layers(2).visible = False  Sobj.Layers(3).visible = False Sobj.Layers(4).visible = True
Sobj.Layers(5).visible = False  Sobj.Layers(6).visible = FalseElseif HMIRuntime.Tags("ColorNumber").Read
=5Then Sobj.Layers(1).visible = False Sobj.Layers(2).visible = False Sobj.Layers(3).visible = False
Sobj.Layers(4).visible = False Sobj.Layers(5).visible = True Sobj.Layers(6).visible = FalseElseif

HMIRuntime. Tags("ColorNumber").Read =6 Then Sobj.Layers(1).visible = False

Sobj.Layers(2).visible = False Sobj.Layers(3).visible = False Sobj.Layers(4).visible = False
Sobj.Layers(5).visible = False Sobj.Layers(6).visible = True Else Sobj.Layers(1).visible = False
Sobj.Layers(2).visible = False Sobj.Layers(3).visible = False Sobj.Layers(4).visible = False
Sobj.Layers(5).visible = False Sobj.Layers(6).visible=FalseEnd IfH D 0 000 O00,000000000M
yRnd(minmax),0 OO0 OO0 O000000O0OmnO0000000O0,maxO000,0000000int00O
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